
LIVING SPA
Regenbrause mit Wandarm

Edelstahl gebürstet
11.044277.1.09

2

3

4
5

6

7
8

9
10

16

11

1

12

13

14

15



Ersatzteilliste

Pos.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

Beschreibung

Montagekörper 

Anschlussset 

Nylon Flex M12x1 x 420 x M15x1 

Durchflussmengenbegrenzer

Reduzierstück M11x1 / M12x1 

O-Ring 

Schraube M6x25

Schraube M6x40

Schraube M5x25

Schraube M5x18

Schraube M4x12

Schraube M4x6 

Abdeckblende 

Schlüssel für Filter 

Schraube M4x10

Kartusche

Art.-Nr.

80.067035.1.09

80.039060.1.09

80.084069.1.09

80.069043.1.09

80.039096.1.09

80.140023.1.09

80.092029.2.09

80.092091.1.09

80.029006.1.09

80.029018.1.09

80.029055.1.09

80.092021.1.09

80.073061.1.09

80.108015.1.09

80.092044.1.09

80.055098.1.09

Preisgruppe

9

8

7

2

5

1

2

2

2

2

2

2

14

3

2

16

VE

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

LIVING SPA
Regenbrause mit Wandarm

Edelstahl gebürstet
11.044277.1.09


